Simplify your answers wherever possible

1 What fraction of these shapes
a) are circles?

b) contain a dot?

¢) do not contain a dot? Q
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What fraction of these arrows
a) point left?
b) contain a triangle?

c) do not contain a triangle?
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3 What fraction of these shapes

a) are circles? O
b) are triangles? i%
e)d contain a star? O
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) are not triangles?

d) contain a star?

What fraction of these stars
a) have only 4 points?

b) have 8 points?

e) do not contain a circle?
f) have exactly 5 points?

g) do not have exactly 5 points?

c) do not have 8 points? +
d) contain a circle?
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